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(a) What fraction of the above shape is shaded?
Write your answer in its simplest form.

Answer

(b) Write your answer to part (a) as a percentage.

Answer

(c) What percentage of the shape is not shaded?

Answer
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2 C s the centre of the circle. P and Q are two points on the circumference of

the circle.
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P
Q
(a) What is the name of the straight line PQ?
Answer [1]
(b) Draw the tangent at P. [1]
(¢) Measure the radius of the circle.
Answer [2]
3 (a) Using each of the digits 6, 8, 7, 5
(i) write down the largest 4-digit even number,
Answer [1]
(ii) write down the smallest 4-digit odd number.
Answer [1]
(b) Insert a number in the box to make the two fractions equivalent.
5 —
7T o [1]

6520

www . StudentBounty.com

[Turn over


http://www.studentbounty.com
http://www.studentbounty.com

4 (a) Fill in the two missing numbers in this sequence

. ,59,13,17,

[2]

(b) (i) Describe in words how to find the fifth term in the sequence below.
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4,7,11, 16, .........
Answer [1]
(ii) Write down the sixth term in this sequence.
Answer [1]
5 The number of books in the bags of a class were recorded.
Number of Frequenc
Books q y
0 2
1 6
2 7
3 6
4 4
5 5
(a) Write down the modal number of books.
Answer [1]
(b) How many pupils were in the class?
Answer [1]
6 A chocolate bar costs 72p.
Ruth buys 4 of these chocolate bars.
How much change should she receive from £5?
Answer £ [2]
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7 The digital clock displays the time of departure of a train.

The journey takes 1 hour and 42 minutes.

Write down the arrival time.
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Answer [2]
8 Diagram not
drawn accurately.
X |76°
198°
(a) 76° is an acute angle.
What type of angle is 198°?
Answer [1]
(b) Susan says angle x is also 76°
Explain why she is wrong.
[2]
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Draw and label arrows to show A, B and C on the number line above.

(a) Aat2.9
2
(b) Bat 35

1
(¢) Catls

[3]
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10 The colours of the cars passing the school gates were noted during a school

day. The bar chart for the data is shown below.

12
Number g
of
cars
4
0

Red Blue Black Green Silver
Colour of cars

(a) How many red cars were there?

Answer

Other

[1]

6520

www StudentBounty.com



http://www.studentbounty.com
http://www.studentbounty.com

6520

(b) How many more blue cars were there than black cars?

Answer [1]
(¢) Which colour of car was the most common?
Answer [1]
(d) On another day the colours of cars were
Colour Red | Blue | Black | Green | Silver Other
Number of cars | 6 12 2 10 8 2
Draw a clearly labelled pie chart for this data.
[4]

www . StudentBounty.com

Examiner Only

Marks

[Turn over


http://www.studentbounty.com
http://www.studentbounty.com

11 A sequence of patterns is drawn below.

6520

2212 32_ 92 42_ 32

(a) Draw the pattern for 52 — 42

(b) Fill in the blanks in the table

2_12= 4 -1 =3
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12 Work out

(a) 0.3X0.3
Answer [1]
(b) 42-1.66
Answer [1]
3 5
(© >->
4 12
Answer [2]
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13 The map shows the position of five towns around a lake.

Scale 1 cm : 3 km

N

Roseville

Kildrum Renfast

Ardhill

Clonmore

(a) Use the map to measure the bearing of Roseville from Ardhill.

Answer °[1]

(b) Use the map and scale to find the direct distance across the lake
between Kildrum and Clonmore.

Answer km [3]
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THIS IS THE END OF THE QUESTION PAPER
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In some cases, efforts to contact copyright holders may have been unsuccessful and CCEA
will be happy to rectify any omissions of acknowledgement in future if notified.
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